Transfers Report

This report contains the transfers results.

Contest Name	Ward 6 - Arbroath West-Letham and Friockheim
Valid Votes	6,108
Positions to be Filled	4
Quota	1,222

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David FAIRWEATHER	Independent	1,465
Alex KING	Scottish National Party (SNP)	1,206
David LUMGAIR	Scottish Conservative and Unionist	2,585
Richard MOORE	Scottish Liberal Democrats	326
Donald MORRISON	Scottish National Party (SNP)	526
	Total	6,108

Candidate David FAIRWEATHER Elected with 1,465 votes, being in excess of the quota of 1,222 Candidate David LUMGAIR Elected with 2,585 votes, being in excess of the quota of 1,222

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of David LUMGAIR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David FAIRWEATHER	0	0.00000	0.00000
Transfer to Alex KING	86	0.52727	45.34522
Transfer to David LUMGAIR	0	0.00000	0.00000
Transfer to Richard MOORE	1,239	0.52727	653.28753
Transfer to Donald MORRISON	36	0.52727	18.98172
Value of non-transferable ballot papers			645.38553
	Total		1,363.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of David FAIRWEATHER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David FAIRWEATHER	0	0.00000	0.00000
Transfer to Alex KING	0	0.00000	0.00000
Transfer to David LUMGAIR	0	0.00000	0.00000
Transfer to Richard MOORE	581	0.16587	96.37047
Transfer to Donald MORRISON	263	0.16587	43.62381
Value of non-transferable ballot papers			103.00572
	Total		243.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Alex KING

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David FAIRWEATHER	0	0.00000	0.00000
Transfer to Alex KING	0	0.00000	0.00000
Transfer to David LUMGAIR	0	0.00000	0.00000
Transfer to Richard MOORE	21	0.01236	0.25956
Transfer to Richard MOORE	51	0.02345	1.19595
Transfer to Donald MORRISON	41	0.01236	0.50676
Transfer to Donald MORRISON	1,042	0.02345	24.43490
Value of non-transferable ballot papers			2.94805
	Total		29.34522

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Donald MORRISON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David FAIRWEATHER	0	0.00000	0.00000
Transfer to Alex KING	0	0.00000	0.00000
Transfer to David LUMGAIR	0	0.00000	0.00000
Transfer to Richard MOORE	23	0.01236	0.28428
Transfer to Richard MOORE	408	0.02345	9.56760
Transfer to Richard MOORE	123	0.16587	20.40201
Transfer to Richard MOORE	11	0.52727	5.79997
Transfer to Richard MOORE	210	1.00000	210.00000
Value of non-transferable ballot papers			367.49333
	Total		613.54719